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109.04. 03 47024 FO $500 ok Bl A& £
109. 04. 04 47025 F105c $5, 000 ok Bl A& £
108.04. 08 47026 % O $600 ok Bl A& £
108.04. 08 47027 kO /HO R $400 ok Bl A& £
108.04. 08 47028 i Oi% $100 ok Bl A& £
108.04.13 47029 - REY FDAT $3, 000 ok Bl A& £
108.04. 17 47030 2O $1,110 oK FIA &
108.04.19 47031 1032 $1, 000 ok B2 &
108. 04. 23 47032 Lot d $1, 000 ok Bl &
108. 04. 23 47033 1 ORt $10, 000 FerC3l £ Fa T i
108. 04. 23 47034 5 Ok $2,000 FerC3l X FaLF i s
108. 04. 23 47035 2O $1, 000 FerC3l £ FaL T i s
108.04. 23 47036 rO% $1, 000 FerC3l X FaLF i s
108. 04. 23 47037 1Ok $3, 000 FerC3l £ Fa T i s
108. 04. 23 47038 FOW/ O™ $1, 000 FerC3l X FALF i b
108. 04. 23 47039 ix O% $300 FerC3l X FaLF i s
108. 04. 23 47040 HEE £ $200 FerC3l X FaLF i s
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108. 04. 24 47041 O $1, 000 FesC3ul X FAEF
108. 04. 24 47042 £ (OiL $1, 000 F 03 & T i I
108. 04. 24 47043 #OR $2, 000 FesC3l X FALE R
108. 04. 24 47044 F1O & $200 FesC3l X FALE R
108. 04. 25 47045 # Otx $500 FesC3l X FALE R
108. 04. 25 47046 B O# $600 WokFA &
108. 04. 26 47047 3+ O $5, 000 WokFA &
108. 04. 29 47049 FOR $1, 000 Fes(5/11)= A& E
108. 04. 29 47050 B OR $1, 000 w4 (5/28)4 = &5 B
108. 04. 25 47302 i Ok $1, 000 FesC3l X FALE R
108. 04. 30 47303 Lo ad $3, 200 KBS & | % 4740 40
&3t $16, 500

ey ¢ F 47041 2 4705055 (4704845 4 <4z ) /473025 (47301-—1/23%1 & 5 )
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108. 04. 03 46797 B AEERE $10, 000 KFlIA &
108. 04. 12 46798 Tmmy $1, 000 oKFlIA &
&3 $11, 000
47 A B $58, 710
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